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There is a ‘Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time’ ta get familisr with questions and ts plan your
angwers.

Eesd the instructiong carafully.

Read the guestions carefully before BNSWEring.

Caiculations, figures and graphs should be shown in the answer shest itgelf.
Malayalam version of the questions is alzo provided,

Give equations wherever necessary,

Electronic devices exespt nenprogrammable caleulators are not allowed in
the Examination Hall.
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Answer all guestioms from
guegtion numbers 1 to b Each

CEIPTY Qe SCOTE.

i. Teaningful and processed form

of data iz known 88 ..o

g Write the full form of USE.

TRty ia a step by ztep procedure

1y solve a problem.

4. What is the name of files created
to support 04+ programs and

kept in the standard library.

&

Find out the odd one from the

following :
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Anmgwer any nine from gquastion
numabers 6 to 16. Back cerries twa

anhires.

& Despite of the high speed and
accuracy, compuiers are said to
be the slaves of human heings.

Why?

7. Name the four s-'Waste diaposal

methods,

8. What are the features of RAK?

%  Problem solving by computer
proceeds through different
stages. Mame the stages in

correct order.

10, Write the output of the following

L4+ exnressions.
Let a=7, k=2,
g) a+bx3/4++b;

Dy aw="T8&Eb>];
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1.

14.

15.

Detect, and correct e erYors In
the following THF code.
#ginclude<iostreans

ysing neme space std;

int main U1

{

counest Sum = ot e
peturn O;

}

pewrite the followring cods
using switch case stajement.

if{hﬂ1=='H‘]

coutb=<<"l prefer
Malay=slam”
else 1f (Lan == B

coar”1 prefer Frglish™;
glee
coatext 1 prefer nelther
Malayelam Nox English®;

Thare are mMany advantages in
using networked corapuiers
of

Write any f[our

instead giafid-alone
compuiers.

advantages of them.

What is the importance of
ToR 1P pretocel in compuler
networks?

Write any LWo drawbacks in
uging social medis.
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#includeciostresm®
using nams space std;
int main (3
{
int a. bi
cout<<"Enter tWo num!::érs: i
cins>a and br
a+h=Ci
cout<<™Sum = "<<C;
return 0;
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if (Lan = = ™)
cout<=<"1 prefer
Malayalam® ;
elge if (Lan == BT

cout I prefer English®:
else
coun=s<"1 prefer neither
Mzlayalam nor English®:
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1%. e-Business has many
possibilities in the business
world, but it faces szome
challenges. Write about any tweo

challenges in e-Business.

Amswer any nime from guestion
numbers 17 to 27. Each carries
three scores.

17. If (M), =(98),, = (I,
find M and .

18. Following is a flowchart to find
the sum of the first 50 natural

numbers,

@587y
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{Dx3=27)
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17. (M), = (88), = (W), snesmeia
M, B agyrdos eesedloanys.
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a) Correct the flowchart if &} Bonowadsldd eamgdsayeerseeslad
there sre errors. (%) G .

b) Redraw the flowchart te find by 1 pe 50 oo pswienss soag
the sum of even numbers UOSUEREROS My DEMHMIEIM,
between 1 and 50. {1} acuedl@zeg  @qQoaodgosel

galam oodl cunlen)s,.

K-449

{2)

1)

Turn Over


https://studentmap.in/

19.

20,

21.

22.

23.

What is debugging? Which are
the different types of errors that

may occur in & program?

a) What is = token in C++ 7
b} Distinguish between

keywords and identifiers.

Data tvpes are necessary to

declare variables in C--

a) What is a data type?

b} Write the classification of
fundamental data types

in Cr,

Write a short note on arithmetis

and logical operators in T+,

a} Write the equivalent

arithmetic operations for the

given C++ short hands.
1) x% =20
i) a+=2

iii)p /= 5

b} What

between a = 20 and a = = 207 [1%)

K-449

is the difference
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(1

(2)
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A4,

Write a O+ prograw bo find the
sirple intereet of an arapunt (F)
deposited with & rats of interast
{R) for a peried of yeers (A,
Rate of interest = T% if dapoeit
amount P is lsss than 1 lakh,
Rate of interset = 8% if depoail
e amount F is betwesn 1 el
and 5 lakhs.
Plate of intersst = D% if deposit
amount P is above § lakhs.

{Hizt : Simple interest = P = M« BADD}.

25,

28,

2.

8} Give the ouiput of the
<+ fellowing sods.
for {i=10;i<30;i+=3)
{
cout<<i<<"\k";
}
b) Bewrite the code neing iz
loop. '

Ezplain briefly about the
wirelzes broadband conmectivity
methods ussd for initermst
connection.

g-Learning allowa usz  to
overcome many limitations of

 conventional tesching-lesrning

Process.

a) Wame any thres s-Learning
tools finx snhancing
g-Learning procaas.

by Write any thres sdvaniagses
of g-Learning.
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Answer any two from guestion

numbers 28 to 30. BEach carriss

five scores.

28. =a)
k)
c)
29. a)
k)
c)
0. a)
by
c)
K-449

Write a detailed
clagsification of software, -

Some Programiming
languages use compilar
wherens some use
interpreter. What makes

them different?

What do you mean by free
software?

What is a type conversion?
Which are the two ways of

type conversion?
Define type casting.

Consider the C++ code
intp=7, g=2;
float a, b;
a = p/g;
b= {a+q)/q;
Find the values of 2 and b.

Liefine the term, topology.

Consider that, your principal
has decided te network vour
computer lak. Which topology
will you suggest? Justify your
angwer.

Differentiate between LAN
and WAMN,

ZxE=
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28. a)

b)

20, a)
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30, a)
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intp=7, g=2;

floatc a, b;

a=p/q;

b= la+gl/aq;
gsoeajoas] aldo
ity i),
mismeyns inlddmilood @oapsd
oMl emEudes ©agod
mfiegraailgl egrmidlensg. ofleEnd
agan 8soeqjonsdl midegulane?
mleBnes HATHREHETR
@l
LAN go WAN go manlejgg
CLI A DOUGI P Y B

gy

Cet the latest Question papers,
Not es and study resources.

Visit studentmap.in

{2 % 6= 10)

{2}

{2)
()

(1}

(1)

(2}

(%)


https://studentmap.in/

	sheniblog_CA_plus1_march2018_page1_image1
	sheniblog_CA_plus1_march2018_page2_image1
	sheniblog_CA_plus1_march2018_page3_image1
	sheniblog_CA_plus1_march2018_page4_image1
	sheniblog_CA_plus1_march2018_page5_image1
	sheniblog_CA_plus1_march2018_page6_image1
	sheniblog_CA_plus1_march2018_page7_image1
	sheniblog_CA_plus1_march2018_page8_image1

